201831 A = M| 1A AA

(&9 = 2)
3=
of AF 4 of| A& o 2549 eV =
T | F =

1.0] 4454 973,811,000 973,811,000 973,511,510
1. AR A o] [ 4,375,000 4,375,000 4,375,000
1.HH Aol A+ 4,375,000 4,375,000 4,375,000
171 ZA A GA DD = 4,375,000 4,375,000 4,375,000

JNBHANAAGARZF = 4,375,000
SH 53] A o] A5 945,109,000 945,109,000 944,810,410
LaSH S AAG =TT 945,109,000 945,109,000 944,810,410
1.8t w8 Al g = 945,109,000 945,109,000 944,810,410

S Fu A Y= = 299,200,000

EAAGR A Y= = 645,610,410
3. 71etol A4 24,327,000 24,327,000 24,326,100
1. 8w 3] A ko] A5 24,027,000 24,027,000 24,026,100
1.oEstusAAY = 24,027,000 24,027,000 24,026,100

thE st 3] Al - Q)= = 24,026,100
2. W17ko] 4 300,000 300,000 300,000
1.71EA = 300,000 300,000 300,000

1A A= = 300,000
398,741,000 398,741,000 398,285,990
R 395,078,000 395,078,000 394,626,030
LA gay 395,078,000 395,078,000 394,626,030
1.340 219,572,000 219,572,000 219,570,950

WA H] = 211,710,500

-2 = 7,860,450
2. 358k &5 ] 106,145,000 106, 145,000 105,990,030

1 755k 2 o) = 105,990,030
3. @A st 14,076,000 14,076,000 14,075,000

A7FA g ek5n] = 14,075,000
4.7 g 55,285,000 55,285,000 54,990,050
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201831 A = M| 1A AA

(&9 = 2)
3=
of AF 4 of| A& o 2549 eV =
a =
] g u| = 54,990,050
4559 3,663,000 3,663,000 3,659,960
1. 242k 9] 218,000 218,000 217,100
1. Ak 2} o 218,000 218,000 217,100
A}kl 7)o = 217,100
2.71et s Ty 3,445,000 3,445,000 3,442,860
1.0]244 1,920,000 1,920,000 1,919,170
o] z}4=¢] = 1,919,170
2. 7168 AT ESY 1,525,000 1,525,000 1,523,690
et G s = 1,523,690
22,213,000 28,203,460 28,201,240
AdEol g 22,213,000 28,203,460 28,201,240
1.EAAY = 20,517,000 20,517,000 20,516,160
LaeAAd I F 20,517,000 20,517,000 20,516,160
FAAD A = 20,516,160
2. 782t 2 A A A& ZL 1,696,000 1,696,000 1,694,620
1. A g A A&7 1,696,000 1,696,000 1,694,620
G Ak A A8 = 1,694,620
3.00dw 0 5,990,460 5,990,460
1.0] €A H| 0 5,990,460 5,990,460
o] YA H] = 5,990,460
A < 37 1,394,765,000| 1,400,755,460| 1,399,998,740
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